

### CITY COUNCIL WORK SESSION MEETING

Tuesday, March 16, 2021, at 5:30 PM Court Room/Council Chambers (2nd Floor) and Online

#### MEETINGS HELD ONLINE ONLY

Pursuant to recent updates from the Utah State Department of Health regarding the number of people allowed to gather physically for a public meeting, there will be no in-person participation. The public is invited to participate electronically as outlined below:

• YouTube Live – Public meetings will be shown live on the Santaquin City YouTube Channel, which can be found at <a href="https://www.youtube.com/channel/UCTzZT\_yW2H2Hd-58M2\_ddSw">https://www.youtube.com/channel/UCTzZT\_yW2H2Hd-58M2\_ddSw</a> or by searching for Santaquin City Channel on YouTube.

#### **ADA NOTICE**

If you are planning to attend this Public Meeting and, due to a disability, need assistance in understanding or participating in the meeting, please notify the City Office ten or more hours in advance and we will, within reason, provide what assistance may be required.

### **AGENDA**

**ROLL CALL** 

PLEDGE OF ALLEGIANCE

INVOCATION/INSPIRATIONAL THOUGHT

### **DISCUSSION ITEMS**

- Discussion Representative Doug Welton Regarding Legislative Session
- Discussion Regarding 3-Year Sewer Collection Maintenance Contract
- 3. Review Upcoming Meeting Items

#### **ADJOURNMENT**

### **CERTIFICATE OF MAILING/POSTING**

The undersigned duly appointed City Recorder for the municipality of Santaquin City hereby certifies that a copy of the foregoing Notice and Agenda was e-mailed to the Payson Chronicle, Payson, UT, 84651, posted on <a href="https://www.santaquin.org">www.santaquin.org</a>, as well as posted on the State of Utah's Public Website.

BY:

K. Aaron Shirley, City Recorder

To: Santaquin City Council and Mayor

From: Jason Callaway

**RE: Collection System Contract** 

As you know with growth comes growing pains and we are experiencing some of those pains in our collection system. At the end of 2020 we had 3911 connections, 1442 manholes and 82 miles of collection pipe that needs to be maintained.

Currently we use RH Borden and Company to do an acoustic assessment of our collection system at a cost of \$50,000 a year. We get out of this a digital map showing the segments of pipe that are either good, fair, poor, or blocked. Once we receive this information it is up to us to take care of any issues they find in the assessment. After the assessment was performed last year, we took our truck out to address the problem areas. We cleaned the lines that were identified as poor or blocked. It took us four months to clean the identified segments working on it in our spare time. While doing this we had an issue with the water pump on our vac truck. This resulted in a \$20,000 repair to the truck.

If we decide to enter into this agreement with RH Borden, they will still do the acoustic assessment but also provide us a manhole inspection for all manholes, Camera and clean all segments found poor and blocked and Camera and clean the entire system over a 12-year period. This checks all the boxes ad requirements from the State and Utah Local Government Trust. They would also provide all findings to us in a digital format that can be easily accessed and brought into our very own mapping and data collection system.

Thank you for considering this contract. I will be at the meeting to answer any questions that you have. I personally feel this will be a benefit to Santaquin City as we continue to grow. It will free up our operators to do other essential tasks and provide us with a wealth of information, so we make good decisions in the future.

# RH Borden and Company LLC

1659 West Cornerstone Drive South Jordan, UT 84095 US jon.borden@rhborden.com

Santaquin, UT 846555509

# Quotation

**ADDRESS** SHIP TO Jason Callaway Jason Callaway City of Santaquin City of Santaquin

Santaquin, UT 846555509

275 W Main St 275 W Main St

USA **USA** 

# **QUOTATION #** 1271 **DATE** 01/14/2021

**EXPIRATION DATE 07/31/2021** 

# SHIP DATE 07/01/2021

DATE	ACTIVITY	DESCRIPTION	QTY	RATE	AMOUNT	
07/01/2021	Acoustic Assessment Service	Acoustic assessment of sewer line pipes utilizing Transmissive Acoustic Inspection with SL-RAT. Results delivered in interactive online dashboard and .csv or .shp exchange format.	315,000	0.16	50,400.00	
07/01/2021	Collection System Maintenance	Cleaning and Camera of lines identified by SL-RAT Assessment. (Estimated that 3% of assessed pipe will need to be cleaned)	9,450	1.10	10,395.00	
07/01/2021	Manhole Inspections	Manhole assessment based on a 3-point risk scale (Low, Medium, High) across 5 sections of the manhole (Lid, Collar, Main Body, Trough, Overall Condition). Results delivered in interactive online dashboard and .csv or .shp exchange format.	1,500	9.00	13,500.00	
07/01/2021	Rotational Clean and Camera	Clean and Camera of Sewer Lines. 315,000 ft. on 12 yr Rotation. (8 - 12 Inch)	16,000	0.74	11,840.00	
07/01/2021	Rotational Clean and Camera	Cleaning and Camera of Sewer Lines. 20,000 ft. on 5 yr rotation. (Over 12-18 Inch)	4,000	0.95	3,800.00	
07/01/2021		5% Discount for 3 year Agreement			-4,500.00	

**TOTAL** \$85,435.00

Item #2.

Accepted By Accepted Date